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< KRRBREREBEFHKROERKR >
. BEWR ATAHS *a5m
RAA T A A e
1 | XERERK 6 2 2 1 3 5 1
2 | BRER 6 2 2 2 4 6 0
3 [IER 2 1 1 2 2 0
4 |BER 8 2 1 3 2 6 8 0
5 |2EBR 7 1 3 3 6 7 0
6 [dtX 7 1 6 7 7 0
7 |FEIE 3 1 2 3 3 0
8 [IFIIX 5 1 4 5 5 0
9 |BffxX 5 3 2 2 5 0
10 |BiIK 4 1 1 2 2 2
11 |FEX 3 2 2 2 1
12 | KHEK 14 3 2 8 10 13 1
13 |mIX 1 1 1 1 0
14 |FFEmH 4 4 4 4 0
15 |)I&tH 14 3 1 10 11 14 0
16 |#E™ 11 2 2 6 10 10 1
17 |BHE 1 1 0 1 0
18 |Z B! 36 2 2 4 21 27 29 7
19 [=EE 1 1 0 1 0
20 |MBT™HH 3 3 3 3 0
21 | KBrh 47 8 1 5 31 37 45 2
22 R 7 1 6 6 7 0
23 |Zrhh 3 1 2 2 3 0
24 |=FOTH 1 0 0 1 0 1 1 0
25 |J\Eh 11 2 3 6 9 11 0
26 |EXBRM 5 1 4 5 5 0
27 |#FTTH 5 1 4 5 5 0
28 |[EEH 34 6 4 24 28 34 0
29 |B¥h 5 1 3 4 4 1
30 [dEAMT 29 4 1 2 21 24 28 1
31 | KEHT 50 24 2 4 18(1) | 24(1) | 48(1) 2
= &t 338 66 18 37 198(1) | 253(1) | 319(1) | 19
< EBHREFREREBEEREFEROIERK R >
| mems |FRER L Y . | R
X% H#H | WTIT T | Wl | &4 3 5 H#
hRE 61 10 1 11(1) | 27(2) | 39(3) | 49(3) 12
SEXREHOERH £ 16 0 2 1 10 13 13 3
= =Rk 6 2 0 1 1 2 4 2
F | UrAtmERE 7 1 1(1) 0 2 3(1) 4(1) 3
Z D 2 0 0 0 2 2 2 0
INET 92 13 41) | 13(1) | 42(2) | 594) | 72(4) | 20
hRE 38 1 1 3 27(1) | 31(1) | 32(1) 6
KRS | SEXRIEMOBLSTEN 31 0 1 1 23 25 25 6
BRE R ARH 5 1 1(1) 1 11) | 32 | 42 1
iz | UFAMBIREE 2 0 1 0 0 1 1 1
£ D 2 0 0 0 2 2 2 0
INET 78 2 4(1) 5 53(2) | 62(3) | 64(3) 14
&it 170 15 8(2) | 18(1) | 95(4) | 121(7) | 136(7) | 34




